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Prime- A- g% %F%(EE, L SE 1) 0|.]II‘E 0|.]II‘E 4 qd & S HOFS H 3|
Grade orote | Grade | M2 | x| mma | FESE | 2mAR | ) | g | 592 | 482 |uxdad | o FH | (HOH/TLload) | 2MAIM
SAHH|/H 10,700 9,620 6,100 4,600 5,200 9,720 9,900 7,200 6,910 15,630 | 13,780 11,450 7,750 6,830 | 15,230 | 13,250 7,150
A= 5,885 5,291 3,477 2,990 3,380 5,210 5,346 4,018 3,835 9,144 8,061 6,561 4,867 4,262 4,264 3,710 4,080
ER 685 616 561 380 380 583 594 518 498 860 758 687 419 355 762 663 560
HOlES/=Y 161 144 61 55 62 146 149 151 145 234 207 195 93 82 228 199 110
I[AI s 1,766 1,587 1,190 506 494 1,701 1,733 1,181 1,126 2,376 2,067 1,683 1,000 900 2,939 2,557 1,040
XMo|/EAMH] | 1,691 1,520 580 442 504 1,609 1,584 994 954 2,266 | 1,998 1,660 969 874 | 6,244 | 5,433 1,000
AHFAH| 514 462 244 250 250 476 495 360 352 742 689 630 388 342 792 689 358
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(RI%, 1AL 28, URYAL-PRATE S-0f Tf2t BAl| 0| 402 £ 9/8)
HSAE | o1o1x 50,000n 0/4/30% Li m*g 2,380,000 20241 HH] 1.028% 84S
20259 BF HZEH|
=FUE | WA 15000 01 V|E(HHESE 9 thF) 3.3m% 7,867,800
RSB | 012t 15,0007 2|Z(CHE/E AMAL
OMIE | A27|Z, 5004/CH 0|4, EHB (X215 A HOFBIM 7| 9508H2l~1,0502+2) HESAH|X|s 0] 22 5132 AL SAM| Xl 30|
(GUISFHE/E) | 5|2 (Zero)oll4 x| HAY 3 H24S OIF Yol 2 S| 50t — AT — ESHUHENE  — FEOMELE || 13500 (a2.27%) 14076%)
AF | 2RAHEB0[SH 71F-0IE L0 O (ARl QIE|2I01BAL EE) 13105 13104 || 12000 (as.8a%) 005 T4
RIS 0|2 | 21:ito] 5,404zt A PR 20 wret 40](54 5%-15%) ' ] s A
130.29 - (A 14.70%)
. 21520| H|2 (Zero) OflL{X| HAof T2 ZAHH| S} M oo 12014
S oIl | - 0171t A%, AXIRHE BH2t 0| ' ~
- g ZS0| T2 AR 21 ArS 130.12 11500
H|0|E{MIE; 11T Loade HEE WX 2F1,000m 22 o % 1.04% % 11000 (a4.94%)
|O]E{MIE| =& 05 = 0.90% 0.99% 0.97% 0.76% om0 104 74
RIS AR A% R210] ZHE 93 20l ot 0.70% 10000 22,
BAH| 45 20l oI21H|o] 50| ZAHI A2l X 29l - - - 0.01% 9500
% 0l218| BYOB BAIBIE ASEM X/ ol 008% 005%  T0.08% '
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